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Important points :

When money is borrowed or deposited on simple interest, then the interest is
calculated evenly on the principal throughout the loan or deposit period.

The following formulae will be helpful in calculating the compound interest easily
for the following periods.

1. When the interest is compound annually, we have

A=P[1+
( 100)

where A is the amount, P is the principal, r is the rate of interest per annum
and 7 is the number of years and we shall get Compound Interest = Amount
- Principal.

2. When the interest is compounded half yearly, we have

2n
A=P[1+
200

3. When the interest is compounded quarterly, we have

4n
A=P|1+
( 400)
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4. When the interest is compounded annually but rate of interest differs year
by year, we have A= P(1+ij (1+ Lj (1+ Lj
100 100 100

where g, b and c are interest rates for I, Il and III years respectively

5. When interest is compounded annually but time is in fraction say al years,
c

a —Xr
we have A=P|1+——||1+C
100 100

e If a sum of money doubles in 1 years, then it will become m times in (m-1) X n
years, if simple interest is applied.

e If a sum of money becomes m times in n years, then it will become m” times in
an years if compound interest is applied.

e Difference between the compound interest and the simple interest on a sum

for 4 years at r% p.a is (6 + 4i + i%) where i = ﬁ

The value of a motor cycle 2 years ago was I 70,000. It depreciates at the rate
of 4% p.a. Find its present value.

QH B FEEH] AUTEMHHAS alened 2 LBBEHHESG (P X 70000845 B([HHDI.
OIS Y ewhCHTHID 4% aipld GHoBIBEH  eafled, DiFHeT HBOUTHSHUI
DSHIHLIS HTEITS.

a.< 65418 b.X 75416 c.X 64512 d. 60720

The bacteria in a culture grows by 5% in the first hour, decrease by 8% in the
second hour and again increases by 10% in the third hour. Find the count of
the bacteria at the end of 3 hours., if its initial count was 10000.

@  urdhleflum, waHeomeugk @@ Wl ChrHded 5% euenf&FFuD, ST Teugd
el GEISH0 8% euengFfld  Ge@ud, cwapTeugk  wewl  CrErHHed  10%
QUMTFFUID SIMLSBHI.  (PHeVIeL DIHT elentenibend 10000945 S(HHSHH! 616316V,
epedil el CHISHMSU LIBEGH DISH6T 616016001 HENHENUIS SHT6EWI5.

a. 5323 b. 7437 c. 8076 d. 10626

Find the difference in C.I and S.I for P =% 5000, r = 4% p.a, n=2

H AU RHGHD Sl B U SHGL BenL CuiweTen alGHHUTFHmBHDH SHT6HISH.
P =% 5000, syemi(y aul'lg aismib = 4%, n=2 S e01BH6N

a.< 4 b.X 6 c.X 8 d.X 10
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10.

Find the difference in C.I and S.I for

P =% 8000, r =5% p.a, n=3

S Ul RbGHD gl B lpbGHD SenL CuiujeTen alSHUTFSHMSBHE SHT601H.
P =% 8000, syewip el lg aisb =5% , n=3 oy emihabei

a.X 81 b.X 61 c.3 41 d.X 20

The compound interest on 5000 at 12% p.a for 2 years compounded annually
is?

X 50006@ 12% ouewiG eul lguiled, 2 UeWIBHEHEH, AIBHHOBTH(IPMDB Il 19
HTBBILLILLLT6D, HeMLBGID Fnl B U 1g?

a. X 1272 b.X 1790 c.X 1100 d.< 1152

Find the compound interest on I 3200 at 2.5%p.a for 2 years, compounded
annually.

I 32006@ 2.5% oG aullguiled, SewiBHOHBTH (LpenB QUL IgsH ST LLHLD
wWpedBuled, 2 eHI(BhBEHHE HMLHSGHD Fnl B ULIYMUISH HTEWIH.

a. 3150 b.X 180 c.X 162 d.< 140

A principal becomes X 2028 in 2 years at 4% p.a compound interest. Find the
principal.

@ SFTH 2 YMIBBeNeD BHHEG 4% gl B eauliguied I 2028815 SLHBSHI
616160, DIFEN6VDH EHT6U0Ib.

a. X 1500 b. X 1650 c.X 1758 d.X 1875

The compound interest on I 8000 at 10% p.a for 1 year, compounded half
yearly is?

I 80006@ 10% opewi® el iguied, @F ueBIBHESG, DMIUTHIBHGH @(H(LOMB
QUL I9H HEWTHBILLILIL LTV, HlenL b@GD Fnl (Haul 1g?

a. X720 b.< 820 c.X 920 d.< 700

At what rate percentage p.a. will I 5625 amount to I 6084 in 2 years at
compound interest?

ahd (B alllg aihdhdHe, I 56259z 2 opahaefey X 608485 THID?

a. 4% b. 5% c. 10% d. 6%

Magesh invested I 5000 at 12% p.a for one year. If the interest is
compounded half yearly, find the amount he gets at the end of the year.
10Bs6 ety X 500088 SeIHEG 12% ey aindHed @ UMBHSG (WPWHeSH
CQFImT]. SIOFWTETHHOBTH (B QUL I9dh SHeISSILLILLLT, aI(bL SnigHuled
Slu] QUBID CFHTENHEMUISH SHTEWISH.

a.< 5,500 b.X 5,750 c. % 5918 d.X 5,618
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13.

14.

15.

16.
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Find the C.I on X 15,000 for 3 years if the rates of interest are 15%, 20% and
25% for I, II and III years respectively.

L II b 11 syemiGaensatar o' lg algmsen (wpasGu 15%, 20% wnmid 25%
atafled X 15,0008@ 3 euibEEhdEE HMLSGD Fal B UL QNS BT,

a.< 10,850 b.X 10,875 c.3 10,800 d.< 10,810

What is the difference in simple interest and compound interest on I 15,000
for 2 years at 6% p.a compounded annually.

% 15,0006@ 6% ouewih el iguied, SLewTHHEOETMH (LPemB 6l lQ  HeTddILLILIL L TeD
2 YWIBBEHHGHE HMLIGD SHANULRHGD Sl Bl lpdsGHD  BemL Guiujeiten
AlSHHWTFID 6T65T601?

a. 344 b.X 54 c.3 64 d.< 34

Find the rate of interest if the difference between C.I and S.I on I 8000
compounded annually for 2 years is ¥ 20.

I 80006, 2 oyauihaehd@ HmLHH SO QEGD Fal Bl lgsbEHD Sl Gul
o eiten alGHwmgd I 20 aaied, o'y aiHHMmBH HTENRIS.

a. 3% b. 4% c.5% d. 6%

Find the principal if the difference between C.I and S.I on it at 15% p.a for 3
years is < 1134.

15% ouewi® e guled, 3 YMIBHEHEHEHEG S HFH SHalall 19hb@GHID Fnl Hall 1poHEGLD
e Buwieiten alGHwimgid I 1134 erafled, SiFenevdH SHTawHIH.

a. < 15,000 b. <X 20,000 c.< 17,000 d.< 16,000

The time taken for ¥ 4400 to become I 4851 at 10%, compounded half yearly
is?

10% ouewi®  auiguiled, SDIDTUITERIBHOBTHPDB QUL I9dh  HeTHH L LI LTe0, I
4400 ooz X 4851 ous a1HHMN SLEwIH DLESHD?

a. 1year b.1 %years c. 2 years d.2 %years

The difference between simple and compound interest on a certain sum of
money for 2 years at 2% p.a is ¥ 1. The sum of money is?

2% Spewi(h Ul 1guley, 2-SLeThEBEhHEG @H DAFNHGHH HMLHH Fnl B UL I19HEGID,
sl el 19bGHd Benl Cuiujeen aldSunad X 1 erefled, DiFe0 SiendHI?

a.< 2,000 b.< 1,500 c.< 3,000 d.X 2,500
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Find the rate of compound interest at which a principal becomes 1.69 times
itself in 2 years.

RT DIFTRIH, LB aullg (wempuled 2 SemihHeled DemHLIGUTETH 1.69 LOLFiG,
SFMGH! 6160160, QUL ATHHWHDH HTEWISH.

a. 20% b. 25% c. 30% d. 40%

A sum of money becomes X 18000 in 2 years and I 40500 in 4 years on
compound interest. Find the sum.

QT SFTAIEH Sl B ey ompule, 2 euipseieo I 18000symeyd, 4
opemipspeiiev I 405008450 D FBEHI 6Tafled, HIFMeVDH HTCWIS.

a. < 8,000 b. X 6,000 ¢.X 5,000 d.< 9,000

Find the principal which gives ¥ 420 as C.I at 20% p.a, compounded half
yearly for one year.

SIMTWTRIHDBEG @0h (PdB el ly HeibHBID  (pepuied, peuihodd 20% el
B He0, gl B el iguimed I 420 HmLsb@GD 6160 DIFMEVDH BHITCTIH.

a.< 20,000 b. < 10,000 c.< 1,000 d.< 2,000

Ramlal deposited X 8,000 with a finance company for 3 years at an interest of
15% per annum. What is the compound interest that Ramlal gets after 3
years?

gymbeured  eleiLiny X 8,000, 15% gml Beully HHID @ B Bnleuearsed
WaHedH CFUISTT elelled, cpeTBl SLWIBHeNed DIUHBEG 6l6ilenl FnBHL OCHTMS
HlemL_b(GLD?

a.< 4,167 b. X 4,500 c.< 4,000 d.< 5,000

Find the C.I. on ¥ 15,625 at 8% p.a. for 3 years compounded annually.
I 15,6258@ o S8hai'ly oisd ealed, 3 UWBBESGHD B Ul lg
&T60I6)LD.

a.< 4,000 b.< 4,500 c.< 4,058 d.< 4,098

Find the compound interest on I 20,000 at 15% per annum for 2 % years.

% 20,0006 o 15% an'y oissdBg 2 %%665[@&5@}&3@&3 LB el 1gemuld

BTG5,

a.X 7,700 b.X 7772.50 c.X 7892.50 d. < 7900

At what rate per annum will I 640 amount to I 774.40 in 2 years, when
interest is being compounded annually?
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% 640 ooz Byewnih pWIBHeMe0 dnl BH0HTNE X 774.40 u&Ib. Gl B Ul lg
aiplD HMTewidh. (AUl SLEWINYBE @(H (WM DIFIL 6T CFHIBIMBSI)
a.5% b. 10% c.15% d. 8%

In how much time will a sum of ¥ 1600 amount to < 1852.20 at 5% per annum
compound interest.

a. 2 years b. 2 % years c. 3 years d. 4 years

X 1600 syavig 5% ouewi® gl (B au'ly aipld OBTWIG THHBHM6T L6 (HBH6IT6E0
< 1852.20 gy@10?

a. 2 au(pLmiselT b, 2 % QUL MBIBET C. 3 GU(HLBIB6IT d. 4 eu@pLmismeit

The value of a machine depreciates at 10% per year. If the present value is ¥
1,62,000. What is the worth of the machine after two years?

@ Bupbdrsdear  FBGutesw  wAY I 1,62,000. @aGeutm LERIBHEGD
Bupgysder wHiy 10% Gopdpz. aald, QB aIGoeT  HPHSI
BeilwbHyHaHlen OHIIL| 6TesT601?

a. ¥1,29,600 b. ¥1,30,600 c.¥1,31,600 d.¥1,31,220

Calculate the compound interest on I 9,000 in 2 years when the rate of
interest for successive years are 10% and 12% respectively.

R OFTMBHEG DBHHBHS UBHBEHEEG (WPepGuw 10% wHpid 12%  eul'lg
alHHHe0 X 9,0006@ 2 UMIBHEHHEG OFHTLT Ul 6T6ilaIeNT6|?

a.< 1,188 b.< 2,088 c.< 4,396 d.< 2,396

A sum invested under compound interest doubles itself in 10 years. In how

many years will it becomes 8 times of the initial amount?

GG ey wmpuled WP&Hedh Oauwiu’L m OCeTenswnaid 10 LemnBaseTeo
Bl liuTHBEl el BT s SiFmeol] GUTeL 8 ILMISTH IHHHIH CHT6iTEmHLD
QUIHLLD 6T6iIaI6NT6)|?

a. 80 years b. 40 years c. 30 years d. 20 years

The difference between the compound interest and simple interest accrued
on an amount of ¥ 18,000 in two years is ¥405. Then the rate of interest per
annum is

8w eupLEDeflsd U000 orear gIB ey, Solaly —Sudluwieumses
alsHwngip 405 aafled aumLa’ly aisb

a.12% b. 15% c. 18% d. 10%
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29. Find the compound interest on I 6250 at 14% per annum for 2 years.
Compounded annually.
OIF60 X 62508401 14% Sl (B aullyp (WedBUTed 2 SLETI(BBEHSE @l LI L6V,
SIHMBTOT Fnl (B QU 19 LG Wmg?
a. 3167040 b. < 1525.50 c.< 1872.50 d.<X 1175.50

30. What will be the compound interest accrued on a sum of I 7200 at a rate of
5% per annum in 2 year?
5% eumL ey aldssHdHed I 72006@ BB MUBLESHD LG gnl B
QUL LY 616116616 ?
a.3 738 b.X 1738 c. < 1268 d.X 648

COMPOUND INTEREST Work Sheet
Answer Key

1 2134 5 6 7 8910
C DC B ACDB A D
11112113 /14115 16 17|18 19|20
B B CDADCADA
2112212312425 262728 29 30
C B B CDIB CB CA
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